R foreTer ad
MID TERM EXAMINATION
T&hd (Third LANGUAGE)

el - 7 qg: 25
A i®- 14-0-17 3P : 80

1.U%h Ueq JTI | Give answers in one word:
%) AGIET YT TN P8 A | e | (2)
9 TR T ueEeE ! S |
T)HTET B gt ? e e esa i gE i |
T )deTe Fil A ! Fae |
2 .90l IR I | (6)
% )EIUIds Fal Haf (EIeAas BT 3T, Jar |
T AT T AT T At ! qfad qeaaTaee aden T qad |
AR TG FE AU b AMART ! A T F2 AU e, 29T, AafcebTs AT |

3 .3 g ﬂaﬂw'lﬁ' qdq | Fill in the blanks with suitable words: (10)
% )-THIEHIE AT —=-==========mmmmmmmmmmmm yguEt | TR e
T )= mmmmmmmmmm e AL Hiqwfd | 9as
T)-3FEAY ===-mmmmmmmmmm o U | %
q )= mmmmmmmmmm e Freanfeeioor 9 o gt | Feamen
T )- AT JAWE -----==--======m==== g | fagorsaty
T )-TATC G T ~-------============ e | =T
B )~ UM, AR —=-============mm== FRUATI, AYUIA | I
| i L | Al | &y
) R L A | AGE
)= —mmmmmmmmm e g : INTarad: g ART | B

5 Bi‘ii)lﬁ‘ﬂ:@ﬁ QEFli' GTQf ﬁf@ﬁ' | Write the meaning of giving words: (5)
% )T & fo7d 7 )&me -0 ) 39O - - 8 ) e -39
T )3T - q3T IS

5 .faeeus: SRid 18 e Sad | Multiple choice question: (5)

e | s R (aﬁwﬁwﬁwﬁﬁ):ﬁwﬁ
e i 2 R (3Tt &Te, = ) O




T )9 T &I AR 7 —=mmmmmmmmmmmmmmmee (e, T, e )3
6 .08 DY gl BT | who said to whom: (5)
%8 BN A el

% )21 U HE B B HU - - --- ---=-=- | AT AT

e B - : N o 7 e
T)ages B ER Fifg-- - - - | afsEds TR
DI | 1 s B e R T e Bl 1ol B R - | e AT
% )ad Wi SdTear ATa9adh- i Hams - - | S g am
7 .Ih3 HoY Qﬁﬁ;g o | write any one meaningfull shloka : (5)

gug g
8 .STENTARIA ST 31t WYITEE | Write the words in numeral: (2)
& aqAARd-44 )T IA-48
STENTARIAT STl TN foGe | Write the numerals in Sanskrit: (3)
% )41 - THIATN I )49 - TaT@MIT

)46 - U FATR I
9 .FEfeRad a1y fopaTae 1,3 @ Wi 9 IRac 56 |

Change the sentence in given tense: (5)
% )T Aels O Tt | (G2 @) - U3 s A T
o) A Fei | (@ A - & A e
)57 g i | (@ ) e s
q)q gard | (TS @) - q zhrafa

% )BT e uiewt | (WS @) - BT 91¢ i
10 .tla'-tlﬁilﬁ T | Give the required grammatical details for the following: (10)

% )T, - gl [0 Twhaed
T )TEMs - T T @2, dhT a50
) AfEAH - g 91g @ @ 120
T )i - 9 T T2 Adr Uhadd
T) AT - U U] @S AhT d50
11.999 ®& a1 LAY | Split the root and suffix for the given word: (5)
% el - (T )
7 )ufen - (9 ,3n)
T )2l - (59 ,)




1 )afer- (S ,an)
3 )& - (39,9)
12 .999 Yo a1 Y | Join the root and suffix for the given word: (5)
& )aT+aat - (3a)
)R+ - (S
T )ues+aal - (geear)
T )fera+aran - (fefaan)
T JaA+FAT - (et
18 .reiferRaa veri favRp aa REgar & | (5)
Complete the missing forms as directed:
% e (gfeetr) garm o dTEm e
=) (ffeet) fxfar - @ A AR
T)ae (g ) aget T AR TR
q)de(T40) g . 9 AN
T)dg (o) wd GES I DTG 1
14 . STETOTRIT TTENST qieen ﬁﬁ'@?‘lﬁw | Answer the following question based on passage:
(5)

YA 94T 398 AR | [OTaeem i Uk UEs Ioid 3R | W e Sfad-Am AT |
AT AR ST ST g el gdied | i, g ed AW 19 ae $er Jiam
e | 3T, STEs ST SUR A [Ooiai T, 310 |
& ) AT U 39d ds ! faSTaRem
) A HEIH S del A ! -

) A I At [ Fald ! I QT S AT 9 ge gatd
7)feeTTEe™ i &5 Al AR 7 IS SUR A e gdied, 3R |
T )R T ad SR L T T TR |




